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Question 1 of 4

Some people prefer to celebrate their birthdays with a large party and many people. Others prefer to celebrate their birthdays with just a few people and a

small event. Which do you think is better? Explain why.

Preparation Time: 15 seconds
Speaking Time: 45 seconds
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Question 1 of 2

Write your response here:

Summarize the points made in the lecture, being sure to explain how they respond to the specific points made in the
reading passage.

The Komodo dragon is a very large species of lizard that lives on a few smallislands in Indonesia. When the reptiles
were first intensively studied, their hunting technique left many biologists puzzled because they simply bit their prey
and then waited for it to slowly die. Experts started investigating the animal's mouths and they eventually suggested
two possible explanations: massive bacterial load in their saliva or a specialized kind of venom. The first hypothesis
was popular for many decades.

The first reason why massive bacterial load in their saliva seemed the more likely cause of death was that animals
that had been bitten by Komodo dragons often had serious infections around the bites. Such infections would rapidly
spread toxins throughout an animals' blood and kill it within a few days. Since the dragons are reptiles, and they can
go for weeks between feedings, this strategy would work.

Second, the mouths of Komodo dragons are full of harmful bacteria. Researchers took samples of dragon saliva and
analyzed it to see what bacteria were present. They found over 50 disease-causing pathogens (microorganisms like
bacteria, viruses, and fungi that cause diseases), and when they injected the saliva directly into mice, many of the
mice soon died. Samples of the mice's blood were full of the same kinds of bacteria.

Third, scientists believed that the bacteria allowed the dragons to catch much larger prey than their usual diet.
Komodo dragons normally eat pigs and deer, which quickly die from blood loss when bitten. However, humans
introduced water buffalo to the dragons' habitat. Water buffalo are so much larger than the dragons that they are
difficult to kill. A massive bacterial load would turn otherwise survivable wounds for the buffalo into a slow death
from bacterial infection.

"‘1
b

HIDE TIMI



TestGlider 27}
MH|A TR

AT|Z & 20| S e MAE
AMA|ZHO 2 oz £ 91018,

7|10l 3~4%0] Z2|EH MF A=
oeld 7lEa S0l
= OO E H=MHE

DRSO 2 A2 & 2t0|El
= A




TestGlider 27}
MH|A TR

AN EZ A Mot e
H 23t H4E W 4 U0l

ETS =2 TOEF

N Ehsh T S &

LS V=0l T

3= Msoie.

ME| F2 01X ALEfe| FatH
HSFO| K| S| 0f 2 ZHARS] A& L}
H 20| 0 Hetol A i E
= = AN

W TOEFL 2| &7| - H2ES2o|lE X ar

S N @ testglider.com/ko/exam/select

’ =a3py] ’

Score:100/120

Reading

Listening

Speaking

Writing

Integrated Q2 (@ Usersin my target score range: 3/4 pts

My Answer

P 000004 e

Speech-to-text

| agree with the statement that the ability to write and read well is more
important today than in the past for two reasons. My first reason is that it is
essential for economic development. Our current society requires such
skills in order for one to maintain a job compared to the past where
literacy was not required as much. If one does not have a job and a stable
income, one will not be able to contribute to the society. Without such
contribution, the overall economic development will slow down. Secondly,
the ability to read and write is important as it provides new opportunities
for self-development. As being able to read and write is a method of
communication and acquiring knowledge, it is needed for one to develop
oneself and accumulate new information. For example, there are a lot of
self-development books in the market and in order to acquire the

knowledge of the book, one must be able to read well.
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Question

The woman expresses her opinion on the school’s
descision to open the school pool to the public.
State her opinion and reasons she gives for her
claim.

Reading Passage
Lecture & Script P 000004 @ LD
How to Improve Your Score

Model Answer
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Idea Suggestions
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i3 4 23 Question

Speech-to-text ) ,
P The woman expresses her opiniorn oin-the school's

| agree with the statement that the ability to write and read well is more descision to open the school pool to the public.

important today than in the past for two reasons. My first reason is that it is State her opinion and reasons she gives for her

Listening claim.

essential for economic development. Our current society requires such
skills in order for one to maintain a job compared to the past where
literacy was not required as much. If one does not have a job and a stable

Speaking,

income, one will not be able to contribute to the society. Without such Explanation & Recommendations

Writing
contribution, the overall economic development will slow down. Secondly,

the ability to read and write is important as it provides new opportunities

for self-development. As being able to read and write is a method of Model Answer k. GO0

communication and acquiring knowledge, it is needed for one to develop
oneself and accumulate new information. For example, there are a lot of .

_ _ _ Idea Suggestions
self-development books in the market and in order to acquire the

knowledge of the book, one must be able to read well.

’l
-




TestGlider 274

818 715

W TOEFL 24 87| - HleE2ct0|H X +

T e @ testglider.com/kofexam/select

=P

Score:100/120

Reading

Listening
Speaking

Writing

1| B2

Independent

My Answer Word Count: 209

In the given materials, the lecture is in direct contradiction to tiic reading
passage, which asserts that there are advantages of avocado
consumption.

Firstly, the passage argues that avocados help in lowering blood pressure.
However, the lecturer contradicts this claim by mentioning its level of fat

content. Since one single avocado contains about 300 calories worth of fat,

overly consuming them will cause weight gain. This nullifies its benefits
because it elicits higher blood pressure despite its concentration of other
healthy minerals.

Secondly, the passage asserts that avocados aid in a healthy pregnancy. In
contrast, the lecturer contends that it is the opposite. Avocados are known
to decrease milk production and damage the mammary gland, negatively
affecting pregnant and breastfeeding women. Also, babies are not capable
of digesting avocado and its contents due to their highly sensitive
stomach.

Lastly, the passage proposes that avocados help in saving money.
However, the lecturer counters this statement by providing its expensive
characteristics. The cost of a pound of apples or grapes or even dozens of
bananas is equal to a single avocada. Also, when growing avocados,
gallons of water are necessary, which is a waste of resources. Meanwhile,
meat diet does not necessitate water as much as avocadaos, making it

Raw Score 4 /5

Question

Do you agree or disagree with the following
statement

It is better to work as a team than as an
individual to succeed.

Explanation & Recommendations

Model Answer

Idea Suggestions

Tips
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My Answer Word Count: 209

In the given materials, the lecture is in direct contradiction to the reading
passage, which asserts that there are advantages of avocado
consumption.

Firstly, the passage argues that avocadaos help in lowering blood pressure.
However, the lecturer contradicts this claim by mentioning its level of fat
content. Since one single avocado contains about 300 calories worth of fat,
overly consuming them will cause weight gain. This nullifies its benefits
because it elicits higher blood pressure despite its concentration of other
healthy minerals.

X

Model Answer Word Count: 209

In the given materials, the lectureis in direct contradiction to the
reading passage, which asserts that there are advantages of
avocado consumption.

Firstly, the passage argues that avocados help in lowering blood
pressure. However, the lecturer contradicts this claim by
mentioning its level of fat content. Since one single avocado
contains about 300 calories worth of fat, overly consuming them
will cause weight gain. This nullifies its benefits because it elicits
higher blood pressure despite its concentration of other healthy
minerals.

Secondly, the passage asserts that avocados aid in a healthy
pregnancy. In cantrast, the lecturer contends that it is the
opposite. Avocados are known to decrease milk production and

damage the mammary gland, negatively affecting pregnant and

breastfeeding women. Also, babies are not capable of digesting
avocado and its contents due to their highly sensitive stomach.
Lastly, the passage proposes that avocados help in saving
money. However, the lecturer counters this statement by
providing its expensive characteristics. The cost of a pound of
apples or grapes or even dozens of bananas is equal to a single
avocado. Also, when growing avocados, gallons of water are

necessary, which is a waste of resources. Meanwhile, meat diet
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